/DIIRB

*UXSD 5R]INiDG o/

$° 7\J

7N 7N
zZ
T
= $QDU]D $QDU]D
o GDQ\FK Z | |GDQ\FK Z
o EDGDQIDFK | |EDGDQIDFK
I VSRiHFIQ\F | |VSREHFIQ\F
o K Gl K Gl
o \ANNFK \NNFK
n 7DPDID = | |7DPDWD =
DICFLD RQ DICFLD RQ
IQH O ||lgH O
/%" /%"
7\ 7\
BHPLQDUXP G\SIRPRZH [AY 3UJHGPLRI IDNXOIDINZQ\ GU KDE
SURI GU KDE 3RYVIHQNR - KDUNHY\FK <XUlL =DICFLD RQ U.QH
> -XUWl =DICFID RQ UlQH 6HPLQDULX o/ $-
T o/ P
Z G\SIRPRZ
= H SURI GU
N KDE
3RYVIHQNR
-XW =DICF
ID RQ UIQH
o/
7\ 7\G] 7\
$QDIID GDQ\FK Z ™ (INND Z  GUKDE 3UJHGPLRI IDNXNIDINZQ\ GU KDE
EDGDQIDFK VSRHFJQ\FK 7\G] SURI 8- 6DIGHN - KDUNHY\FK <XUlL =DICFLD RQ 0.QH
GU - \U\\FK 7DPDUD =DIC $QDU]D (N\ND Z - IHViDZD =DICFLD RQ o/ $-
FDRQUQH O/ GDQ\FK Z | |GU KDE WQH 0/
o $" EDGDQIDFK | |SURI 8- 5= 0/ 52
o VSRiHF]Q\F | |6DIGHN o/
x K G = HViDZD
T \ANFK =DICFLD RQ
70PDID = | [0QH
DICFLD RQ ,
QH O ||/ 5=
/%" 0/
52 O
/
—
]
7\J
7N 7N 7N
(INND Z  GUKDE
(N\ND Z SURI 8- BDIGHN
$QDU]D $QDU]D GU KDE - IHViDZD =DICFLD RQ
= GDQ\FK Z | |GDQ\FK Z SURI 8- WQH 0/
I EDGDQIDFK | |EDGDQIDFK 6DIGHN 5= 0/ 52
O VSRiHFIQ\F | |VSREHFIQ\F = HViDZD o/
%) K GU K GU =DICFLD RQ
- \UNNFK - \UNNFK wH o,
7DPDID = | |7DPDID = ,0
DICFIDRQ | |DICFLD RQ / 5°=
IQH O ||l O 0/
/%" /%" 52 (¢]

/




*UXSD 5R]INiDG

/DIIRB
o/

$-

7\J

6R




